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5. Solve the following problems accordmg to the given condmons for the column Cross
section shown in the first Figure below. (LA‘F o NEE S 4)
A. Design axial load P, = ? {p.s. the load factors of dead load and life load are revised
to 1.2 and 1.6 in new ACLcode) -
B. Design bending monment Mu =7
C. Required longlmdmal remforcmncnt ratlop =7 accordmg to the demgn st'ength
curve P, - M, shown in the second Figure.
D. Layout of longitudinal reinforoement if #8 bar is used
Given conditions: Pp= 100 klps P= 140 klps, e=6. 15 in., Q’ 3 ksi, fy = - 60 ksi, #s bar;
dy=1 in., 2,=0.79 i in?, per bar.
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